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       27      45>45DO                 7 
 

�4D>4 FD4=E?>DF=>7> ED54EF64 - 

&<? FD4=E?>DF=>7> ED54EF64 2847-0000010, 2847-0000010-01 

,4EE< FD4=E?>DF=>7> ED54EF64 

(547>6>5 FD4=E?>DF=>5 ED54EF6>) 

  HYUNDAI H-100 (AU) Porter 

�4F57>D<O FD4=E?>DF=>7> ED54EF64 N1  

�>4 ���  45 1112 (2847-0000010) 

45 2110 (2847-0000010-01) 

�>4 VIN X8428470??0?????? 

->>?>7<G5E><= >?4EE 2  

�4O6<F5?L < 57> 44D5E ��� "�46>4 �6F>>G7>6>6" 

$>EE<O, 140003,�>E>>6E>4O >5?., 7. �N55DFO, �>6>DO74=E>>5 L>EE5, 

4.1�  

�77>F>6<F5?L < 57> 44D5E ��� "�46>4 �6F>>G7>6>6" �>6><>E>>6E><= D<?<4? 

$>EE<O, 301670, &G?LE>4O >5?., 7. �>6><>E>>6E>, G?. �4O>>6E>>7>, 30 

 

��-�� %�$��&�$�%&��� &$��%��$&���� %$��%&�� 

 

�>?5E=4O D>D<G?4 / 654GM<5 >>?5E4 4E2/744=<5  

%E5<4 >><?>=>6>< FD4=E?>DF=>7> ED54EF64 >45<=4 =44 46<74F5?5<, D4E?>?>65=<5 46<74F5?O  - ?5D54=55, 

?D>4>?L=>5  

�45<=4 F5?L=><5F4??<G5E>4O, 46GE465D=4O, FD5E<5EF=4O 

�E?>?=5=<5 747DG7>G=>7> ?D>EFD4=EF64 

(F<? >G7>64 FD4=E?>DF=>7> ED54EF64) 

 

7DG7>6>= DGD7>= >5M57> =47=4G5=<O, F5?L=><5F4??<G5E><= 

<?< F5=F>64==O= E 744=5= 46GEEF6>DG4F>= 465DLN <?< E5>F<-

>==>= 465DLN <?< D>??5F=>= 465DLN (2847-0000010); 

7DG7>6>= DGD7>= <7>F5D<<G5E><=, F5?L=><5F4??<G5E><= E 

744=5= 46GEEF6>DG4F>= 465DLN <?< E5>F<>==>= 465DLN <?< 

D>??5F=>= 465DLN (2847-0000010-01) 

�47=4G5=<5 FD4=E?>DF=>7> ED54EF64 4?O ?5D56>7>< ?D><OL?5==OE < ?D>4>6>?LEF65==OE F>64D>6 SE
RT
AU
TO
.R
U
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�454D<F=O5 D47<5DO, <<  

- 4?<=4 6400�6500 

- L<D<=4  1700�1900 

- 6OE>F4 2730�2930 

�474, << 2430 

�>?5O ?5D54=<E / 744=<E >>?5E, << 1455/1380 
 

 

 

 

 

 

 

 2847-0000010 2847-0000010-01 

�4EE4 E=4DO65==>7> FD4=E?>DF=>7> ED54-

EF64, >7 (?> ��%& $ 52051-2003) 
1710�1761 1729�1791 

�>?=4O <4EE4 FD4=E?>DF=>7> ED54EF64, >7 2600 

- =4 ?5D54=NN >EL 1290 

- =4 744=NN >EL 1720 

�>?GEF<<4O ?>?=4O <4EE4 ?D<F5?4, >7 5G>E<D>6>4 ?D<F5?4 =5 ?D54GE<>FD5=4 
 

 

 

 

 

 

 

 

�6<74F5?L (<4D>4, F<?) HYUNDAI, D4BF <?< D4BF-E,  

G5FOD5EF4>F=O=, 4<75?L=O=, E FGD5>=444G6>< 

�>?<G5EF6> < D4E?>?>65=<5 F<?<=4-

D>6 
4, DO4=>5 

$45>G<= >5N5<, E<
3
 2476 

%F5?5=L E64F<O 21,0 

�4>E<<4?L=4O  <>M=>EFL, >�F (<<=
-1

) 59 (3800) 

�4>E<<4?L=O= >DGFOM<= <><5=F, �.<. 

(<<=
-1

) 200 (2000) 

&>??<6> 4<75?L=>5 
 

 

 

%<EF5<4 ?<F4=<O 6?DOE> F>??<64 ?>4 446?5=<5< 

�?>> G?D46?5=<O (<4D>4, F<?) 39100-42210 <?< 39100-42220, <?< 39100-42230 <?<  

3910-42240 <?< 39100-42250 <?< 39100-42260 

&��� (<4D>4, F<?) ZEXEL, 33104-4200 

$>DEG=>< (<4D>4, F<?) Doowon/Lukas, KPDNIOPON130/BDN10PN130, 36710-42020 

&GD5>>><?D5EE>D (<4D>4, F<?) 28200-4B160 

�>74GL=O= D<?LFD (<4D>4, F<?) Dong Hyun / Jinwoo, 28130-44000 
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%<EF5<4 6O?GE>4 < =5=FD4?<74F<<  

>FD45>F46L<E 747>6 

464 7?GL<F5?O,   

E<EF5<4 =5=FD4?<74F<< >FEGFEF6G5F 

�E=>6=>= 7?GL<F5?L (<4D>4, F<?) �160 

�>?>?=<F5?L=O= 7?GL<F5?L (<4D>4, F<?) �18 
 

 

 

&D4=E<<EE<O �5E4=<G5E>4O 

%F5??5=<5 (<4D>4, F<?) Hyundai, >4=>4<E>>6>5, EGE>5. �D<6>4 - 7<4D46?<G5E><= 

�>D>5>4 ?5D544G (<4D>4, F<?) Hyundai, E E<=ED>=<74F>D4<< =4 6E5E ?5D544G4E E DGG=O< 

?5D5>?NG5=<5<  

6?5D54 - 5, =4744 - 1 - G<E?> ?5D544G  

- ?5D544F>G=O5 G<E?4  
I - 3,986 

II - 2,155 

III - 1,414 

IV - 1,000 

V - 0,813 

�.E. - 3,814 

�?46=4O ?5D544G4 (<4D>4, F<?) Hyundai, >4<=4D=4O, 7<?><4=4O 

- ?5D544F>G=>5 G<E?> 7?46=>= ?5-

D544G<: 3,909 
 

 

 

�>465E>4  

- ?5D54=OO Hyundai, =5746<E<<4O, ?DG6<==4O =4 ?>?5D5G=OE DOG474E, E 7<4D46?<G5E><<< 

4<>DF<74F>D4<<, E> EF45<?<74F>D>< ?>?5D5G=>= GEF>=G<6>EF<  

- 744=OO Hyundai, 746<E<<4O, D5EE>D=4O, E 7<4D46?<G5E><<< 4<>DF<74F>D4<< 
 

 

 

$G?56>5 G?D46?5=<5 (<4D>4, F<?) DG?56>= <5E4=<7< F<?4 "L5EF5D=O-D5=>4"; DG?56>= ?D<6>4 

E 7<4D>GE<?<F5?5< 
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&>D<>7=O5 E<EF5<O:  

- D45>G4O (<4D>4, F<?) Hyundai, 7<4D46?<G5E>4O 46GE>>=FGD=4O 4<47>=4?L=> D4745-

?5==4O E<EF5<4, 4<E>>6O5 F>D<>74 =4 ?5D54=<E >>?5E4E, F>D-

<>74 54D454==>7> F<?4 =4 744=<E >>?5E4E, ?D<6>4, E 64>GG<-

=O< GE<?<F5?5<, ?5D54=<5 F>D<>7=O5 <5E4=<7<O - 4<E>>6O5, 

744=<5 - 54D454==O5  

- 74?4E=4O (<4D>4, F<?) Hyundai, >464O= <7 >>=FGD>6 D45>G5= F>D<>7=>= E<EF5<O 

- EF>O=>G=4O (<4D>4, F<?) Hyundai, E <5E4=<G5E><< (FD>E>6O<) ?D<6>4>< > F>D<>7=O< 

<5E4=<7<4<  744=<E >>?5E 
 

,<=O  

- <4D>4 

- D47<5D=>EFL  

 

- 

185R14C-6PR 

 

- 

185R14C-8PR 

- <=45>E =5EGM5= E?>E>5=>EF< 102/100 

- >4F57>D<O E>>D>EF< P, R 
 

�>?>?=<F5?L=>5 >5>DG4>64=<5 

FD4=E?>DF=>7> ED54EF64 

>>=4<F<>=5D (E?44475=F R134�), ?D>F<6>G7>==>5 GEFD>=EF6> 

 
 

 

 

 

 

 

 
 

 

 

 

 

 

 

       

2847-0000010, 2847-0000010-01
 

 
 

 
�?<E4=<5 <4D><D>6>< FD4=E?>DF=>7> ED54EF64 ?D<6545=> 6 ?D<?>65=<< 7 2. 

�5M<5 6<4O FD4=E?>DF=OE ED54EF6 =4 1 ?<EF5 ?D<6545=O 6 ?D<?>65=<< 7 3. 
 

 

 
         �.�. �5=<E>6               %.�. �G74G56 

 

     �5=EF6G5F E «   27  »  45>45DO 2006 7. 
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 �D<?>65=<5 72 > �4>5D5=<N 

 F<?4 FD4=E?>DF=>7> ED54EF64 

 

���%���� ��$��$���� &$��%��$&���� %$��%&�� 

 

1.  �5EF> D4E?>?>65=<O < D>D<4 7=4>4 E>>F65FEF6<O: 

 

�4 F45?<G>5 <77>F>6<F5?O =4 5>>>6>= ?4=5?< DGD7>=4 E ?D46>= EF>D>=O, 

E=4DG6<. 

�=4> E>>F65FEF6<O 6O?>?=5= ?> ��%& $ 50460 E G>474=<5< =><5D4 44==>7> 

«�4>5D5=<O F<?4 FD4=E?>DF=>7> ED54EF64» 

 

2.  �5EF> D4E?>?>65=<O F45?<G>< <77>F>6<F5?O: 

 

2.1 � >45<=5 ?>4 E<45=L5< ?4EE46<D4  

2.2 �4 5>>>6>= ?4=5?< DGD7>=4 E ?D46>= EF>D>=O, E=4DG6< 

 

3.  �5EF> D4E?>?>65=<O <45=F<D<>4F<>==>7> =><5D4 (>>4 VIN): 

 

3.1 �4 F45?<G>4E <77>F>6<F5?O 

3.2 �G5?<DG5FEO >?5=<5=<5< G44D=O< E?>E>5>< =4 ?D46>< ?>=65D>=5 D4<O 6 D4=>=5 

?5D6>= ?>?5D5G<=O 

 

4.  %FDG>FGD4 < E>45D64=<5 <45=F<D<>4F<>==>7> =><5D4 (=><5D>6) FD4=E?>DF=OE  

ED54EF6: 

1. 2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12. 13. 14. 15. 16. 17. 

X 8 4 2 8 4 7 0 ? ? 0 ? ? ? ? ? ? 

 
?>7. 1-3: <564G=4D>4=O= <45=F<D<>4F<>==O= >>4 <77>F>6<F5?O (WMI): 

X84 - >>4 <77>F>6<F5?O - ��� «�46>4 �6F>>G7>6>6»; 
?>7. 4-9 >?<E4F5?L=4O G4EFL (VDS) <45=F<D<>4F<>==>7> =><5D4 (<=45>E) FD4=E?>DF=>7> ED54-

EF64  

284700 � 2847-0000010, 

28470� � 2847-0000010-01; 

?>7. 10:  ? - 7>4 6O?GE>4 E>7?4E=> ��%& $ 51980 (6 � 2006 7. , 7-2007 7.); 

?>7. 11:  0 � ?>EF>O==O= E<<6>?; 

?>7. 12-17: ? � ?D><76>4EF65==O= ?>DO4>>6O= =><5D FD4=E?>DF=>7> ED54EF64. 
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�D<?>65=<5 73 > «�4>5D5=<N  

F<?4 FD4=E?>DF=>7> ED54EF64» 
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